
When Do Sup& %roes Use Decimqls?
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TO ANSWER THIS QUESTION:
Draw a straight line connecting each exercise with its correct answer. Each line
will cross a number and a letter. The number tells you where to put the letter in
the row of boxes at the bottom of the page.
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4.8 x 100

0.48 x 10,000
480 + 10

4.8 + 1000
48 x 1000

0.0048 x 10
48,000 + 10,000

48 + 100
0.48 I  1,000,000

27.5 x 1000
2.75 + 100

0,00275 + 10
'  2.75 x 100,000

0.0275 x 100
2750 + 1,000,000

27,500 + 1000
0.275 x 10,000

27.5 x 10
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.  4.8

. 0.0048

. 480

. 2.75
r 275
r 4800
. 0.000275
. 0.00275
. 0.048
r 27,500
r 2750
.48
. 0.49
. 0.0275
. 27.s
l  275,000
r 48,000
. 490,000
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DIRECTIONS:

Each of the two blocks below is divided into 20 boxes. Boxes in the top block contain problems and boxes in the bottom block

contain the answers. Work any problem and find your answer in the bottom block. Then write the word from the'problem box

into the answer box. Keep doing problems and you will spell out a funny saying.
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l0 x 7.537

IT

l0 x 23.65

wHo
.91 x lO0

Hts
4.9 x t0

A
.36 x l0

WOULD
4.8 x 1000

THERE

100 x 53.749

HE

4.735 x 1000

HAD

100 x 2o2.8

BECAUSE

4.735 x 100

WAS
.91 x 1000

DECIDED

7.O9 x lO0

MAN

l0 x .001

ONCE
1000 x7.O9

PARROT

1000 x23

A
1000 x .01

NN ME
23 x10

POLITICS
753.7 x 1000
SWALLOWED

100 x 3.6

WATCH
l0 x 2o2 .8

PET

23,0004 800
; :

53,7 4 .9

2 0,280

.  , j  ,1,

2028

)

753,700 360
l l i

'  t :  . .

4735


